C€

eILTEe)

ing lower
ulkk ompressure
urbo lower

e
‘%%\

SLET e






= Features

Ring Blower for Vacuum & Compressorﬂ

Installation

>For Compressor > For Vacuum

Suction =
Filter
Relief \
Valve
Pressure
Gauge -
™~

Check Flexible Hose
Valve

=
=]

Ellclass 15

— HUISTIPS4HE) SSol Hg
— i EA0R BBl 2T ¥ES IS
— FE1Z(89/336/EEC, 91/368/EEC, 73/23/EEC, 93/44/EEC, 93/681/EEC)0]| &5t M|&fst "CEOIT'E

Bearing &

New model Old model

~Ring Blower .’ .

T

Silencer

Pressure
Gauge

Relief
Valve

— HF0| BRI = Bl ofgt A3, — Bearing2 Seald2 &5 Grease 57
TS, YES I[A5 stELIC Qlot &2 Z|[AF SIASLICE

— HOZE7} /2ot S| XA St — UWEE GreaseE F6tH HK{2 +H2
20| 5LICL =3t st ELICH

Inhaglotech Co. 03—



==
) L )
e egmE R Lo e
60 HZ Pressure & Vaccum Specification Table
dooo  prase Mooy Caem ALY presire sueion S Nozlosie Ml wogn: st
m¥min) mmHe0) mmHz0) (dB) suction Impeller
iHG-129-1 1 02 14 10 700 ) 58 PT1"(25A) ALDC12.1 8
iHG-229-1 1 04 3 16 1400 1300 58 PT11/4(32A)  ALDCI2.1 11
iHG-329-1 1 09 58 29 1400 1600 64 PT11/240A)  ALDCI2.1 15
iHG-339-1 1 13 83 29 1900 1800 B4 PT11/2408)  ALDCI2.1 16 IFLE5§1(/F25
iHG-429-1 1 15 115 4 2000 1700 75 PT2'(50A) ALDCI21 25
iHG-439-1 1 2.2 15 4 3000 2200 76 PT2"(50A) AlDCI21 27
iHG-129 3 03 2.0/1.1 16 1200 1100 58 PF1'(254) ALDC12.1 9
iHG-229 3 05 26/15 16 1600 1500 58 PF11/4'(32A)  ALDCI2.1 10
iHG-329 3 08 3.7/2.1 29 1300 1300 66 PF11/240A)  ALDCIZ.1 13
iHG-339 3 15 8.0/35 29 2200 2100 70 PF11/2'20A)  ALDCI2.1 17
iHG-429 3 20 7.6/4.4 42 2100 2200 72 PF2'(504) ALDCI21 23
iHG-439 3 26 10.3/6.0 42 2900 2600 72 PF2'(504) ALDC121 25
é iHG-529 3 3.4 12.6/7.3 62 2300 2500 74 PF2'(504) ALDCI21 35
iHG-629 3 37 134/78 6.2 2500 2700 74 PF2"(504) ALDC12.1 37 IFLE5€1(/F25
iHG-639 3 46 15.6/9.0 6.2 3300 3300 74 PF2'(504) ALDCI21 40
iHG-729 3 63 22.3/129 10 2800 3000 74 PF21/2'65A)  ALDCI21 63
iHG-829 3 86 30/17.3 10 4000 3500 74 PR21/2'85A)  ALDCI21 68
iHG-839 3 132 433/25 10 5000 3700 78 PR21/2'85A)  ALDGI21 83
iHG-919 3 145 502/29 20 2600 2700 81 PFA'(100A)  ALDC121 116
iHG-929 3 153 536/31 20 3000 2900 7 PFA'(100A)  ALDCI21 122
iHG-939 3 213 B75/39 20 4200 3800 82 PFA'(100A)  ALDCIZ1 126
iHG-2308-1 1 09 58 36 1500 1400 70 PTI1/4@G2A)  ADCIZT 20 e
iHG-2315-1 1 1.7 135 4 1800 1600 70 PT11/4'(324)  ALDCI2.1 21 IP54/55
iHG-2308 3 07 42/2.4 17 2100 1600 68 PF11/4'(32A)  ALDCI2.1 18
iHG-2315 3 15 5.9/3.4 17 3000 2100 70 PT11/4'32A)  ALDC121 20
iHG-3319 3 20 76/4.4 3 3100 3200 71 PF11/2'(40A)  ALDCI21 25
iHG-3326 3 26 10/58 3 4200 3500 71 PF11/2'40A)  ALDCI21 27
iHG-4337 3 3.4 12.6/7.3 45 4600 3800 76 PF2'(504) ALDCI21 40
iHG-4346 3 46 17.1/9.9 45 4800 4100 76 PF2"(504) ALDCIZ1 44
iHG-6346 3 48 18/10.4 63 3200 3500 78 PF2'(504) ALDCI21 54
, HG-6355 3 63 23/13.3 6.3 5000 4400 78 PF2'(504) ALDCI21 66 |F|>E5§1(/F525
ct HG-6375 3 86 30/17.3 6.3 8600 4600 80 PF2'(504) ALDCI21 73
iHG-8311 3 126  502/29 10 6000 4600 80 PT21/265A)  ALDCIZ1 104
iHG-8315 3 173 555/32 10 7500 4900 80 PFR21/2Y65A)  ALDCI1Z1 120
iHG-8320 3 173 555/32 17 4000 3400 86 PF3'(30A) ALDC121 137
iHG-8330 3 23 72.7/42 17 6000 3900 86 PF3'(B0A) ALDCI21 142
iHG-9315 3 153 536/31 22 2700 2500 86 PFA'(100A)  ALDCI21 168
iHG-9320 3 185  63.2/365 22 3600 3500 88 PEA'(100A)  ALDCIZ1 186
iHG-9330 3 20 82/47.3 22 3800 3900 88 PFA'(100A)  ALDCI121 204
iHG-1622 3 30 90/52 22 5400 4500 88 PF4'(100A) FC20 380
HG-1525V 3 175  63.2/365 40 1200 1100 88 PFA"(100A) FC20 418 .
HG-1626v 3 23 72.7/42 40 1800 1900 88 PF4'(100A) FC20 434
HG-1727v 3 30 90/52 40 2300 2200 88 PF4"(100A) FC20 443 IFLE5§1(/F25
3 HG-123sP 3 268 82/473 11 8000 5200 85 PFA4"(100A) FC20 324
® HG-173sP 3 30 90/52 24 5000 4400 91 PFA"(100A) FC20 479
—  AZQIZYSKSEI SIS AR X HARH)S 7IEE £710]0 QAR +10%0ILIULICE
— HSE YN AZA ZEZRH A 15~20% MAE &= AlEL T,
— LiAM(EENY, HET, UERER A SEAHEE FEMEEC 2 JA| 2oL CE
04 Inhaglotech Co.




CMM [m¥min]

K]

1000

Pressure Performance Curves

[inch Hz0]
79 118 157 197 236 275 315

200 300 400 500 800 700 800
[mbar]

1499
1428
1356
1285
1213
1142
1071
892

821
785
750
714
679
643

607

) 536
iHG-919

iHG-939 500

464
429
393
357
321
286
250
214
179
143
107
71

36

2000 3000 4000 5000 6000 7000 8000
[mmH20]

[psig]

|.|-|
i
Fm
i
1o
Ok
~
ro
H
o
o
oy
14
1
10
e
1
=]
S
w
3
o
L
P
w
[ e
[(e)
P
Q
~—
(9]
3,
~
HA
|0
HU
to
bl

T
ule}
rr

CFM [it*/min]



CMM [m¥min]

Vaccum Performance Curves

Black line : Single stage

[inch H20]
236 197 157 118 79 39 0
600 500 400 300 200 100
[mbar]
38 1356 =
36 1285 ¢
34 1213 &
32 142 5
30 1071 5
28 1000
26 928
24 892
23 821
22 785
21 750
20 714
19 679
18 643
17 607
16 571
15 536
14 500
13 iHG-919 464
12 429
11 393
10 357
9 321
8 286
7 250
6 214
iHG-729
5 179
4 143
.
3 IHG-829 107
iHG-529
2 71
iHG-639 iHG-329
1 iHG-129 36
iHG-229
6000 5000 4000 3000 2000 1000 [mmH20]
8 7 B 5 4 3 2 1 0
[psig]

MO MeIM-E EEFO Z722 20, Y79 ¢f20] 1013mbar(1.032%gf/cm?) 71222 LAMHS =
10%&LICh



—_ - g PR

e

One Stage Blower =L

7
D L
E F

ModelNo. A B D E F H K L 0] @R P @X Y

iHG129-1 2085 2135 165 185 205 108 - 100 38 12 25A - -
iHG229-1 248 249 205 227 253 130 83 108 42 10 32A 140 MBX15
iHG329-1 285 301 225 257 265 153 90 130 45 12 40A 175 MBX15
iHG339-1 285 301 225 257 265 153 90 130 45 12 40A 175 MBX15
iHG429-1 332 3385 260 298 3215 175 115 155 47 14 50A 200  M8X15
iHG439-1 332 3385 260 298 3215 175 115 165 47 14 50A 200  M8X15

iHG-129 2085 2135 165 185 206 108 - 100 38 12 25A - -
1 iHG-229 248 249 205 227 253 130 83 108 42 10 32A 140 M6BX15
_Sr' iHG-329 285 301 225 257 265 153 90 130 45 12 40A 175 MBX15
A IHG-339 285 301 225 257 265 153 90 130 45 12 40A 175 MBX15
G iHG-429 332 3385 260 298 3215 175 115 155 47 14 50A 200 M8X15
E iHG-439 332 3385 260 298 3215 175 115 155 47 14 50A 200  MBX15
iHG-529 383 4165 290 332 362 195 140 180 50 15 50A 240 MBX15
iHG-629 383 4165 290 332 362 195 140 180 50 15 50A 240  M8X15
iHG-639 383 4165 290 332 362 195 140 180 50 15 50A 240  M8X15
iHG-729 464 567 365 420 490 280 280 315 96 16 65A 405 M12X15
iHG-829 464 567 365 420 490 280 280 315 96 16 65A 405 M12X20
iHG-929 560 629 360 415 710 306 600 6385 95 16 100A 490 M12X20
iHG-939 560 629 360 415 710 306 600 6385 95 16 100A 490 M12X30

Inhaglotech Co. 07—



Model No.
iHG2308-1
iHG3315-1
IHG-2308
IHG-3317
IHG-3319
IHG-3326
IHG-4337
IHG-4346
IHG-6346
IHG-6355
IHG-6375
IHG-8311
IHG-8315
IHG-8320
IHG-8330
IHG-9315
IHG-9320
IHG-9330

moO>>—Wn

A
283
320
283
320
320
320
369
369
364
424
424
486
486
486
486
600
600
600

‘OS Inhaglotech Co.

272
313
272
313
313
313
374
374
371
416.5
416.5
567
567
567
567
570
570
570

338
350
338
350
350
350
443
443
443
454
454
307
307
307
307
796
796
796

205
225
205
225
225
225
260
260
260
290
290
365
365
365
365
360
360
360

227
257
227
257
257
257
298
298
296
332
332
420
420
420
420
415
415
415

F
314
411
314
a1
411
a1
458
458
457
598
598
733
733
733
733
740
740
740

H
130
153
130
153
153
153
175
175
176
195
195
280
280
280
280
300
300
300

K
83
90
83
90
90
90
115
115
115
140
140
280
280
280
280
600
600
600

108
130
108
130
130
130
155
155
155
180
180
316
316
315
315

42
45
42
45
45
45
47
47
44
98
98
121
121
121
121
91

91

91

32A
40A
32A
40A
40A
40A
50A
50A
50A
50A
50A
65A
65A
B65A
B5A
100A
100A
100A

ox
140
175
140
175
175
175
200
200
200
240
240
405
405
405
405
490
490
490

M12X15
M12X15
M12X20
M12X20
M12X20
M12X20
M12X30
M12X30
M12X30



I ..

Vertical Blower S R

<
=P
>=S0o
— 43 AN HXIE0| = OISYZ E &5 H AF Mg

Double Stage

Loader Blower

i'u

IO I ﬁ
J il
QUL W

Rated Rated

S B rv(df\jvc))r Cu[r;?nt A‘!:MZ;}—W Pr[eMs;);re S[LIJ\;(W:;EW ?Z‘\g? E%ﬁﬁ\%éf Mcaéggfa\ \f\f[ekig]ht \ns;l\aast\sorw
m¥/min) o KO)  mmHO) (dB) suction Impeller

iHG-339 3 1.5 6.0/3.5 2.9 2200 2100 70 PF1/2"(40A) ALDC12.1 17

iHG-429 3 2.0 7.6/4.4 42 2100 2200 72 PF27(504) ALDC12.1 23
é)- iHG-439 3 2.6 10.3/6.0 42 2900 2600 72 PF2"(50A) ALDC12.1 25 E2(F)
= iHG-629 3 3.7 13.4/7.8 6.2 2500 2700 74 PF2"(50A) ALDC12.1 37 1P54/55

iHG-729 3 6.3 22.3/128 10 2800 3000 74 PF2 1/2"(65A) ALDC12.1 63

iHG-829 3 8.6 30/17.3 10 4000 3500 74 PF2 1/2"(65A) ALDC12.1 66

Inhaglotech Co. 09—



N B i ’J’ B - Py )7. 7 ~=
- K} .
;. P e = - -
Special Ring Blower I S
o= = fe) R
> S ASEY (=515 :GN13445)
— SY2Z 40T 0|5H=E FAIE += UGLICt
—  UE2ES SR 98 HEo| #Ey |7t gl .
g g o=
—  Compactst 7%= MAIUIXS FA 5} tus =
StELIC 7l
— 2-DoorAez EF, RX|, 247} E0|giLCY,
— E29A8215~20% HE 24 sI¥SLICH S820C
Z|ch 40°C Olst
Specification
Model No. ZE{(kw) F|CiRE qARH L2 ZHESY
iHG-2000 0.5KwW 1500/min 500/min 1600mmAg 2400mmAqg
iHG-2500 0.85KW/1.5KW 3000/min 1000/min 2300mmAg 3000mmAg
iHG-2800 2.6KW 4000/min 1400/min 3300mmAq 4500mmAQ
iHG-3000 3. 7KW 4000/min 2500/min 3300mmAg 5000mmAg
- HE 1@ (110V/220V), 3@ (220V/380V~415V)
Performance curve (for iHG329)
0 InHzd 40 80 120 160
e far m3/min
‘ ‘ cfm
360 8O 220
E(Vacuum):
300 50 |- 185
240 40 L 150
180 30 118
120 20 |- 70
60 10 - 35
30 05 — 10
0 0o -0
0 50 100 150 200 250 300 350 40O mbar
o I | | T | \
= 0 1 2 3 4 5 psig
HE
Specification
) Frequency(Hz)
Description Unit 86 70 80 50 40
M7 rated power Kw 1.8 1.4 09 08 0.2
HALLL rated speed RPM 5000 4000 3500 2900 2300
= current AMP 39 35 3.0 28 25
EZ pressure mmAQg 1500 2000 1700 1500 1000
=% vacuum mmAg 1500 2000 1700 1500 1000
Z|CHEZF Max, Air flow m’/min 4.2 35 3.0 25 20
A Material Impeller ALDC12.1
Casing ALDC12.1
— Sl xHUAMo=z Z2f Y 2US EEX0| A FESIH AIEE o+ USLICH
— 34 AEE A4R5HE o|Lef Helol 2HEH AR E 4= QUG UICH
-10 Inhaglotech Co.




Accessories
> Filters

< ¢ o -
D
Y c
("F1" TYPE) ("F2" TYPE)
> Silencers
< @ L
L]
D
C
]
("S1"TYPE) ("S2"TYPE)
> Relief Valves
]
P
-
‘@O
»
.. ] A
{se_!’f

Screw driver slot Retaining nut

Spring Valve disk

N

AN Socket head

~ Screen cap cap screw Coupling

D OO0000008
R0000a000!
RO LYY

LY

CO00000000
HEe D000

oo [

TYPE Class

32A
40A
50A
65A
32A
40A
50A
65A
80A
100A

Class
32A
40A
50A
65A
32A
40A
80A

100A

Al@)
55.3
68.4
93.6

Max, Press mmH20
50HZ

900

1700
2400

B C D
175 138 1
175 138 1%
176 164 2°
285 200 2%
162 100 1%
162 100 1%

161 115 2"
252 150 2%
252 150 3
252 150 :
B c D
222 100 1%
222 100 1%
283 120 2
401 150 2%
202 0y
202 70 1%
440 154 h
443 185 &
B(e)
156.9
186.4
163.2

Max, Vaccum mmH0

60HZ 50HZ
1100 800

2000 1500
2600 1900

Inhaglotech Co. 1 1—







- “Blower .

— J|& HiEche| 20~40% oA x| =z
— UFHO| DL 158 MA L 2HHE
— AHYAOZ J|AEA 2|45
— SYIEE0| ¢&MoR 0|20 K= A 587
QRSN — DS HAZOZ WM ELQ
. L] —_ -
—  ZICHSIRIA AN AE, 2 e
— HZEHE Y MRS
— 0|32t Ex[7} E0I5HH HED +/Z ulA|
— J7|Hlolz} 2E7 = MEe= 75~80db
05t Mags Aol
— EERE T MEoIR| L= oo ZUH0E HE
— F7|HQI FER S0ILHIOE wst 20| 2R
— SYTERHHA EE DE
— HIEXHS FE52 7ERO #Z(HE0| 7|ZESA H U7 Y 2EHR)
— U 2 B 38 & H#EUMS
P — HY ERY 5ol FR5t 2URE S
R
e : . — - L
% - —~—
AN ad -
= . \ . 3 ES :
—_— = 9 i ¥ =
6 - . B ~ = E v { B . V '—
—_— °1||—17‘|ng ) B ‘ N r:\‘.\‘:: e
% . A
e, _o %‘]-EJ L= . e .
i = =2 -1 = . %
R ) -
HIGH
HIGH HIGH

Inhaglotech Co. 13—



| g ;_“..—r.h.
) — gEN



R IS0 S8 M 20|
OIB{E] FEIH4 HEHS S5 21 60,000RPMO2 3/
HAFE O] 4590102 %7| 75

AIE / S| EIAE 20,0008] O[4f A3t

I&3H 2 AMzE 22 98%2 1eE HiS

[

aan)

250012(HP)7IX| 2] ©1HE 3000[2(HP)0| &<

Z|HE ol X 2Z 7|&2] IHE HZ|
Mzotoz DEHIIS
L)

S BEHS0E OIHGT A4T S
AEIA| AL OHEsHA 244 U RAD)

7Fs¢et KEB(Kinetic Energy Back-up) 7 [S &
Sensor-less7 |22 D120 A 2&H=E BHX|

1% O|2te| Starting Current= AjAdH| &2t
0.3% Unload Power Consumption

A=A

Inhaglotech Co. 15—



BLOWER

BN CORE TECHNOLOGY

— SRAST ALY U=
M| Sefoll cish LiEE Hof

o220| AISOR 2HK| & R

-

-

‘1 6 Inhaglotech Co.

speed ratio= 0.9

—
oueRHER!

— ~ TR TN - — £y
~ -
- - v 1
e ) )
- . b N ¢
e - ) _"( . -:!/
: UV T
A
- ‘-'
>
—  ARSAREEER! 20 HMOoAIAY
St 2 (=)
— U HLREAR IS
— Oyt RHRES S ORES X|E
OLUMETRIC FLOW
500 1000 1500 2500 3000
otal power(rati
.. 8
S &3
: o

30 40 50 60 0 80
UMETRIC FLOW [m®¥min]




Standard performance

Specifiction iTB-20 iTB-30 iTB-50 iTB-75 iTB-100 iTB-120 iTB-150 iTB-200 iTB-250 iTB-300 iTB-400 iTB-600 iTB-800

Standard Condition Air Flow(m*/min) : 1atm, Rh65%, Temp 20°C, Density 1.2kg/m’, Tolerance : +5%
5000 15 - - - - - - - - - - - -
6000 14 21 36 53 72 85 110 147 170 220 204 441 560
DISCHARGE 7000 13 19 31 47 63 75 94 126 154 189 252 378 480
PRESSURE 8000 - 18 29 a4 57 70 88 114 144 176 228 352 436
(mmAG) 9000 - . . O I 74 % 110 : . . .
10000 - - - 35 it - 72 ek 106 - - - -
SHAFT POWER (HP) 20 a0 50 75 100 120 150 200 250 300 400 800 800
5,000  150A - - - - - - - - - - - -

6,000 150A  150A 150A  200A  200A  200A  300A  300A  300A  400A  400A  S500A  GOOA
EXHAUST 7000 150A  150A 150A  200A  200A  200A  300A  300A  300A  400A  400A  500A  600A

PIPE(A) 8,000 - 150A 150A  200A  200A  Z200A  300A  300A  300A  400A  400A  500A  ©OOA
9,000 - - - 200A  200A  200A  300A  300A  300A
10,000 - - - 200A  200A - 300A  300A  300A
700 700 700 850 850 850 900 900 900 1200 1800 2300 PRI
DIM(E:JH?;ON 1200 1200 1200 1400 1400 1400 1750 1750 1750 2200 2500 2600 2600
H 1100 1000 1000 1400 1400 1400 1650 1650 1650 2000 1910 2200 2200
Wight (kg) 600 600 600 720 750 750 950 1000 1000 1300 1500 2100 3000

Highpressure performance

Specifiction TH-50 iTH-75 iTH-100  iTH-150  iTH-200  iTH-300  iTH-400
TYPE 2 STAGE TYPE
Standard Condition Air Flow (m*/min) : tatm, 20°C, 65%RH, Density = 1.2kg/n’, Tolerance : +5%
15 16 24 ) 48 65 9% 127
DISCHARGE Air Cooling 20 12 18 25 37 50 75 100
PRESSURE
) 25 . . 20 30 40 80 80
(kg/om?)
Water Cooling 3.5 - - 18 - 36 55 -
SHAFT POWER(HP) 50 75 ) 150 200 300 400
15 150 ) 200 200 250 300
I 20 150 ) 200 200 250 300
25 : 150 200 200 250 300
35 . 125 150 ) 200 350
W 750 900 900 1050 1050 1200 1500
D'M(;NﬁJ'ON L 1700 1800 1800 2100 2100 2300 2500
H 1250 1450 1450 1700 1700 1900 2000
Weight(kg) 750 800 950 1000 1500 2000

— 7|2:5%2H & Bov(Blow-off valve)
MEHALED EE AZT|, HEWME SASE ZRIE
— SHAl=35bare] =0 HESZYTIX| HE JHSEILICE (dbare JHRIEE)

Inhaglotech Co. 17—



BLOWER

AN _Application . .

!;

| S SO

.
TR

St @4, TS X2
/MR M2l 2713

QL AARS (272 tHA\,

TS

Perforated
plate board

Sawdust or chaff

- Discharge vent

EH| Y&

& MY Exd2lA Lo 37| 52

~

Pellets

Damper

Nozzle

EH|0|AAIA
AlHIE B2 SSIHRSER 014
7|EFAtR]

Incinerator

Filter

SRAIE

‘18 Inhaglotech Co.



>
2ExE2Y
TE 135HP
o417+ ZIZEARZH| 100.0%
AZHO|LIR| A2 100.0%
47t X |H 100.0%
St E AQH|IE 100.0%
HI2
£l
[Break Even Paint]
0 14 21 3

FE=249 ] Y 2t

4
i

iTB100-0.6

53.3%
50.0%
8.3%
48.9%

2224

EBEZY

ELN;
g

2z H2
£29 289

2x229 13501

0.6bar
70m* /min

102kw
95~110dB

0=
O oo

ME

w
[

BHH 0t

= VEREERHH I LY =¥

CHH| 30~50% OAte] &17| =0l of|L{ x| Xt

= oloHoiE HEc2 LUWHS

43 Cioes

=22t 29 RAHIE2| 45}

1

agx a0

— Y IR 5ol PRo 2UEE HS,
HBEGAN s

= S AS0| Mol H2 ZetE 2|

— 2H[7} AHESD dX| HHO| 2ot 2X|
0150| 0= He|

Jle™ &0

— SUNES0| HEHOZ 0|R0Al=
HAM E87|12 27| 2ol Sl

iTB 100-0.6

A
e Do
Hald Heldl
34710 E|HA D&
0.6bar 0.6bar
70m* /min 70m* /min
90kw 7okw
85dB BOGIAIE Ofst
afzt ]
242 2R
5~104 BT

Inhaglotech Co. 19—




DISC
DIFFUSERS

AFD270 9' CIATE W9l 47| B2 MANLRE Y E7|x0]

o o

M Z710f 7hE §8%0 HEUL|CH

llicone,

e ey ol M2 HEAS0| MESsk= BE RN &7 |0l 22X
71 eFg Ao |1 oKX E20| 7HY =2 MEYLT
2.5 -50Nm/3hr (1.5- 3.0 SCFM)
:0.5~12 Nm/3hr (0.3 - 7SCFM)
: EPDM, PTFE Coating EPDM, S
PU, Viton

ECD270 |3 C|AT AL7|RHS 9" mig||ola} PP C|A

3 A7 237}

URHOZ ALE HAE HZoR, 27| erlof ofstof Heaolo

0|Z XIX[st= ClA3 A7 ]2 Hjo]ARt HERZ 2E 0| El= 30|

Mo] Zohx| e, ZEFEME SHHE EHZ 2

CIxIOIE! Qlst 2 eate] Safie MZULICH

:2.5-50Nm/3hr (1.5- 3.0 SCFM)

I5 }

4]
I 37(0] s Bt400] Hof Qi Weralolnt AR BRI} UHOE

HFAH
=20

f=1

:0.5~12 Nm3/hr (0.3 - 7SCFM)

: EPDM, PTFE Coating EPDM

Inhaglotech Co

, Silicone,

) B

PTFE DISC DIFFUSER

_ a\\ ~
v A\ 1l =
3 i
S Y 7
- 0 Ny -
-

EPDM DISC DIFFUSE

AFD350 12" CIASE 47| B 37|35 Q2|mA=R CIxRIE
CIAZE ATIRS0IN BERIOIS Solo] FUsh 7|2 28x02
HE|4:0) PO BAAIZ 4 U= 71 2 Bz 2HEn]

371 0| 4x| £0| 9'TIATH A IR0 BI510 X A0
ZHEOIE} & 4 9100, MRIA K% 34719 CIAZE A|2o0
HI5H0} X474 AR50 AIBHIS Horst 4 Q= HEYLICH

4.2 -83Nm/3hr (2.5 - 5.0 SCFM)

:0.5~20 Nm3/hr (0.3 - 12 SCFM)
- EPDM, PTFE Coating EPDM, Silicone,

R






) -

SHEe ga=2e =28 A2 67
et 2222 1 8kg/cmrLl 10.3m%/min
HEo| 4502 e HEYLC
[E5]: M 10-1841368%]
[MESZ: A 40-13467385]
Specification
Discharge Displacement Suction
Pressure Volume Flow Cooling Type Power Max. Speed Weight
e (Max. kg / (Max. m¥/ (Max. m¥/ B (Kw) (RPM) (kg)
cm?) min ) min)
COMBLO-SC 2.0 14 10.3 Oil cooling 37 1800 565
Features

— CombloAl2|Z= RHTPSEHCOE RI2

ATIAIO] HI5H0] QPRI M5 RIS 4 UBLIC
—  OUIX| ALRHIRO| 71E0| 0%HE 2 MARITIE 5 4 UBLICH
— X RYAOR o4 AR Xi2j0| TH5510] AARO| B ElLICE,
— TG JISEXI 0} 7 |RHS | IS S B A% B 4 USLCE

Application

COMBLO 7t=

‘22 Inhaglotech Co.



— >
_— —_— — /}‘
{’ -
) HE O|&A LYo HestEE
0l& Al ®ME7+s &Lt
Specification
Discharge Displacement Suction )
Pressure Volume Flow Cooling Type Power Max. Speed
MODE (Max, kg / (Max, m3/ ( m3/min) S (Kw) (RPM)
cm?) min )
COMBLO-VW 14.8 10.3 Air cooling 45 900
Application
AlAZ T4 3 o3
EEEEN
ya=za
AR H=2S
UZ0/5HHE
52
l[__g N s AZ0E FANEEA
L S L Bt
FAIHY
==2rjo|x] “'

Weight
(kg)

353+MOTOR

MEE
AHO|E
H—
H—
[

Inhaglotech Co.







	1p-최종(인쇄전)시안(24P)-8차-인하글로텍
	2p-최종(인쇄전)시안(24P)-8차-인하글로텍
	3p-최종(인쇄전)시안(24P)-8차-인하글로텍
	4p-최종(인쇄전)시안(24P)-8차-인하글로텍
	5p-최종(인쇄전)시안(24P)-8차-인하글로텍
	6p-최종(인쇄전)시안(24P)-8차-인하글로텍
	7p-최종(인쇄전)시안(24P)-8차-인하글로텍
	8p-최종(인쇄전)시안(24P)-8차-인하글로텍
	9p-최종(인쇄전)시안(24P)-8차-인하글로텍
	10p-최종(인쇄전)시안(24P)-8차-인하글로텍
	11p-최종(인쇄전)시안(24P)-8차-인하글로텍
	12p-최종(인쇄전)시안(24P)-8차-인하글로텍
	13p-최종(인쇄전)시안(24P)-8차-인하글로텍
	14p-최종(인쇄전)시안(24P)-8차-인하글로텍
	15p-최종(인쇄전)시안(24P)-8차-인하글로텍
	16p-최종(인쇄전)시안(24P)-8차-인하글로텍
	17p-최종(인쇄전)시안(24P)-8차-인하글로텍
	18p-최종(인쇄전)시안(24P)-8차-인하글로텍
	19p-최종(인쇄전)시안(24P)-8차-인하글로텍
	20p-최종(인쇄전)시안(24P)-8차-인하글로텍
	21p-최종(인쇄전)시안(24P)-8차-인하글로텍
	22p-최종(인쇄전)시안(24P)-8차-인하글로텍
	23p-최종(인쇄전)시안(24P)-8차-인하글로텍
	24p-최종(인쇄전)시안(24P)-8차-인하글로텍

